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What is the ruling if it is rolling — 37 PaPann

OVERVIEW

X7°T 27 posed a query; what is the ruling in a case where the bundle of grain was in
the >"77 and it was rolling from the >"737 to the 7"77. There is a dispute between
*"w7 and MBI how to define the case in question and what are the two sides of the

query.
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>'"'w9 explained that the doubt of 1"7 was whether we follow the eating of the
grain (which took place in the 7"717) and he 1s M5 (for 7w is 21 only in P17 MWA),
or whether we follow the initial taking of the grain (which was in the >"711) and he is 27n.

mooin disagrees with >"wA:
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And there is a difficulty with s“"wn explanation; for later there is a mwn

regarding a dog who took a biscuit and went to a pile of grain -
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Where the X713 is certain that if the dog ate the 77717 in someone else’s w73 (not
in the w73 of the 77717 5v2) that he is exempt from paying for the 7771 since he did not
eat it P17 mMwna (but elsewhere), even though the dog took the 777n from the pri7 mw.
Similarly here, even though the 77772 took the 7"y from the P17 mwA, however since it did not
eat it 21°17 M2 (but rather in the 7"77), he should be M5!

mdoINn has an additional difficulty with >"wA5:
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And there is an additional difficulty, for the expression "s9:n»', does not
indicate that the 772 was rolling the 7"y, but rather that it was rolling on its own.

mooIn offers his interpretation:
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" sxn 7"72. It is apparent that >"w" interprets the 1"17 X°v2, where the 72 rolled the grain from the *"717 to the 2"711
and ate it in the 7"7".
2 See ®,30. The n1wn ruled that he is 211 a w"1 for eating the 71777 in the v 7).
? If we are discussing where the a2 rolled it, a more appropriate term would be n23932, but not 330 (which
indicates that it is rolling, but not that it is being rolled), and especially not >nX1 232301 RpY.
* Someone placed the M2 on a slope in the >"717, and they were rolling down the slope towards the 1"7.
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And it is the view of the >''1 that the query was in a case where for instance the
fruits were in the P17 nw9, and they were rolling (on their own, not by the
a72) towards the 9''519 in such a manner -
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That if the 77272 would not restrain them with her mouth and eat them there

in the P17 MwA), they would have ended up resting in the 2''519 -
y p g
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So s't''v query was whether it is considered as if the m7°2 were lying in the

9" (and he is MWD), or not (and he is 21 since factually the 7nn2 [stopped those m7d
from going into the 1"77 and] ate the 1717 7¥12 M%D).

Mmoo continues with the explanation of the s'X 13 attempt to resolve this query:
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And the X n said, ‘come and hear; the Xn»72 states, a load that was partially

inside, etc.’; the X 3 assumes ‘is not this Xn>>12 discussing a case of ®abann’.
mooIn explains why the X773 assumes that the Xn»72 is discussing8 237300 -
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For that is the usual manner; if something is partially inside and partially

outside, it must be rolling (from inside to outside). The X3 continues with its resolution -
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And the ¥n»13 stated, ‘if the animal ate inside she is n2»m’, even though that

eventually it would have rolled outside, if the animal would not have eaten it.
This proves that (1"777 *";791) 232301 is 211, This concludes the s'& 73 attempted proof.

MooIn makes a (side) comment:

> We should perhaps consider it as if the 772 took the M7 from the 7"711 (where they were destined to rest) and ate
them in the 71°37 7%, in which case he would (still) be 7109, for we require that the taking and the eating must both
be 1017 7¥12 (for IR 77w W "N YD’ °2, indicates that everything, the taking and eating, took place nX 77w2 [see
vIweN 7"7 X,32 "1 '01n]). See n"n1 for a possible explanation why it can be considered as if it was taken 7"7772.
® The rule is if the animal ate it inside he is 27, if it ate it outside he is MwH.
7 Otherwise, if it is simply as the X092 states, it is obvious that 1w is 20 only pr37 mwa2 and not 7"772. See
‘Thinking it over’ # 1.
8 According to >"wn that 232301 means that the 712 rolled it from the >"77 to the 1"777, we can understand that the
Xn>12 which states a load that was initially partially inside, etc. and if n2»n Y112 725K, means that the animal took it
from the inside to the outside (proving that we follow the 719°3%, but not the 71°p?). However according to nooin that
©323nn means on its own, why should we assume that the Xn>>"2 is discussing a case where it rolled on its own?
MvoIN responds.
? According to "wn, however, if the 772 rolled it, why mention that it was partially inside and partially outside, it
should have merely stated that it was inside and the 71772 rolled it from the inside to the outside.

2

TosfosInEnglish.com



23%3nm "7 ‘I R,0 P"2 702

- NOD NDIWST KNYINT XY AN N1 209109 YIna nYany
And the X012 taught 77w yIM2 7998 only on account of the xw»,'' for it is
obvious that 7mvd yIn2 79K, There is no need to teach us the X9°0.

mMooIn continues with the s'k 73 rejection of the proof:
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‘I will say she is na3>11 for eating what is inside’ -
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Meaning she is na»n for eating the food that belongs inside, which will not

eventually roll outside. However, for food which could have rolled outside if not for the
cow eating it, he may be d. There is no proof from the Xn>92.

mooIn explains the second rejection of the X7a:
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‘And if I want I can say, the Xn>72 is discussing ‘wicks’ of Xnopox’, whose
leaves are long -
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And I would have thought that we should follow the majority of the leaf,

whether the majority is inside or outside. The xn»12 teaches that we do not follow the
majority, but rather for whatever he ate inside he is 21, for whatever he ate outside he is 705.

SUMMARY

"1 explains 932ann that the 772 rolled the food from the *";17 to the 2"77 and the
query is whether we follow the taking (in the °"77) and he is 211 or we follow the
eating (in the 1"77) and he is Mw>.

mooin argues that if the eating is in the 7"77 he is always 70o.

' This may be where it was rolling from the 1"77 to the >"711 and he ate it in the "7 It is obvious that he is T
(even though it was rolling towards the >"717) since he actually ate it in in the 1"77 (see 8"1 '0In). See (however) "7
¥ NN,
1 However, according to *"wM, the entire proof is from yin2 793X; even though he took it from the inside,
nevertheless since he ate it outside, he is 75 because we follow the 772°2X but not the 7moP5.
2 See “Thinking it over’ # 2.
% The xn»a (according to the X"vyax) is not discussing a case of 232ann at all (see "1 '01n); therefore we cannot
bring any proof from this Xn»92 to the query of 1"7. The novelty of this Xn*M2 (see footnote # 7) is as mMdOIN
continues to explain. See footnote # 14.
'* We may have thought that if the majority of the leaf is in the *"71 he is liable even for the portion of the leaf which
was 1"772, and the same in the reverse if the majority of the leaf was in the 7"77, he is 715 even for the portion that
was in the *"717. [We must say, however, that in either case the iin72 ate it in the >"i17, for otherwise what is the W71
of 77109 Y2 793K (see n"m). ]
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mooIn explains 732301 that it rolled on its own (down a slope) and the 772 stopped
its progress and ate it in the >"717. The query is whether we follow its destination (in
the 7"777) and he 1s Mwd. Or we follow the place where he stopped and ate it (in the
°"17) and he is 2.

THINKING IT OVER

1. The X3 writes 232ann2 X2 *Xa. According to mdoIN is the reason we assume
that we are discussing 2x72nn because that is the Xn>n7 7R, or because
otherwise'® there is no w7°n in the xn»22?"”

2. Moo explains the first answer of the X773 to mean that he is 2717 for that which
is o°192 N MRA since it is YINY 2aanTe a9 PR Seemingly this is a XnYn
Xv w57, what is the X012 teaching us?!"

'3 If xnm7 oK forces us to say that it is 93930, then by Xnopox it should also be discussing 2323nn (see footnote #
13). How is the proof rejected?
'® See footnote # 7.
"7 See TN "wIon XN # 42,
' See footnote # 12.
19 See X"WI1? X102 RATI2 and AV MR 777 on2 2.
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